

$$a) \int x \cos(x^2) dx$$

$$= \int \frac{1}{2} \cdot 2x \cos(x^2) dx =$$

$$du = dx^2 = (x^2)' \cdot dx$$

$$= 2x dx$$

$$u = x^2$$

$$= \frac{1}{2} \int \cos(x^2) 2x dx = \frac{1}{2} \int \cos(x^2) dx^2 = \frac{1}{2} \int \cos u du =$$

$$= \frac{1}{2} \sin u + C$$

$$b) \int e^x \sin x dx \rightarrow \text{integration by part}$$

$$u = e^x \rightarrow du = e^x dx$$

$$dv = \sin x dx \rightarrow v = \int dv = \int \sin x dx = -\cos x$$

In general

$$\int u dv = u \cdot v - \int v du$$

$$\int e^x \sin x \, dx = e^x \cdot (-\cos x) - \int (-\cos x) \cdot e^x \, dx =$$

$$= -e^x \cos x + \int \cos x e^x \, dx$$

$$u = e^x \rightarrow du = e^x \, dx$$

$$dv = \cos x \, dx \rightarrow v = \int \cos x \, dx = \sin x$$

$$\int u \, dv = u \cdot v - \int v \, du$$

$$J = e^x \cdot \sin x - \int \sin x e^x \, dx$$

$$I = -e^x \cos x + e^x \sin x - I$$

$$\Rightarrow 2I = -e^x \cos x + e^x \sin x$$

$$I = \frac{-e^x \cos x + e^x \sin x}{2} + C$$

$$a) \int x \cos(x^2) dx$$

$$= \int \frac{1}{2} \cdot 2x \cos(x^2) dx =$$

$$du = d(x^2) = (x^2)' \cdot dx$$

$$= 2x dx$$

$$u = x^2$$

$$= \frac{1}{2} \int \cos(x^2) 2x dx = \frac{1}{2} \int \cos(x^2) dx^2 = \frac{1}{2} \int \cos u du =$$

$$= \frac{1}{2} \sin u + C$$

$$b) \int e^x \sin x dx \rightarrow \text{integration by part}$$

$$u = e^x \rightarrow du = e^x dx$$

$$dv = \sin x dx \rightarrow v = \int dv = \int \sin x dx = -\cos x$$

In general

$$\int u dv = u \cdot v - \int v du$$

$$\int e^x \sin x \, dx = e^x \cdot (-\cos x) - \int (-\cos x) \cdot e^x \, dx =$$

$$= -e^x \cos x + \int \cos x e^x \, dx$$

$$u = e^x \rightarrow du = e^x \, dx$$

$$dv = \cos x \, dx \rightarrow v = \int \cos x \, dx = \sin x$$

$$\int u \, dv = u \cdot v - \int v \, du$$

$$J = e^x \cdot \sin x - \int \sin x e^x \, dx$$

$$I = -e^x \cos x + e^x \sin x - I$$

$$\Rightarrow 2I = -e^x \cos x + e^x \sin x$$

$$I = \frac{-e^x \cos x + e^x \sin x}{2} + C$$

a) $\int x \cos(x^2) dx$

$u = x^2$

$du = 2x dx$

$\frac{du}{2} = x dx$

$\int \cos x dx = \sin x$

$\int \cos x^2 dx = \int \cos u \cdot \frac{du}{2}$

$= \frac{1}{2} \int \cos u du = \frac{1}{2} \sin u + C$

$= \frac{1}{2} \sin x^2 + C$

$$a) \int x \cos(x^2) dx$$

$$= \int \frac{1}{2} \cdot 2x \cos(x^2) dx =$$

$$du = d(x^2) = (x^2)' \cdot dx = 2x dx$$

$$u = x^2$$

$$= \frac{1}{2} \int \cos(x^2) 2x dx = \frac{1}{2} \int \cos(x^2) dx^2 = \frac{1}{2} \int \cos u du =$$

$$= \frac{1}{2} \sin u + C$$

$$b) \int e^x \sin x dx \rightarrow \text{integration by part}$$

$$u = e^x \rightarrow du = e^x dx$$

$$dv = \sin x dx \rightarrow v = \int dv = \int \sin x dx = -\cos x$$

In general

$$\int u dv = u \cdot v - \int v du$$

$$\int e^x \sin x \, dx = e^x \cdot (-\cos x) - \int (-\cos x) \cdot e^x \, dx =$$

$$= -e^x \cos x + \int \cos x e^x \, dx$$

$$u = e^x \rightarrow du = e^x \, dx$$

$$dv = \cos x \, dx \rightarrow v = \int \cos x \, dx = \sin x$$

$$\int u \, dv = u \cdot v - \int v \, du$$

$$J = e^x \cdot \sin x - \int \sin x e^x \, dx$$

$$I = -e^x \cos x + e^x \sin x - I$$

$$\Rightarrow 2I = -e^x \cos x + e^x \sin x$$

$$I = \frac{-e^x \cos x + e^x \sin x}{2} + C$$

a) $\int x \cos(x^2) dx$

$u = x^2$

$du = 2x dx$

$\frac{du}{2} = x dx$

$\int \cos x dx = \sin x$

$\int \cos x^2 dx = \int \cos u \cdot \frac{du}{2}$

$= \frac{1}{2} \int \cos u du = \frac{1}{2} \sin u + C$

$= \frac{1}{2} \sin x^2 + C$

$$\int \underbrace{4x} \underbrace{\sin x} dx$$

$$\int \underbrace{x} \cos(\underbrace{x^2}) dx$$

$$u = 4x \rightarrow du = 4 dx$$

$$du = \sin x dx \rightarrow v = \int du = \int \sin x dx$$



Exercise 2:

a) $\int x^2 \sin x dx$

$U = x^2 \rightarrow du = (2x) dx$

$dv = \sin x dx \rightarrow v = \int dv = \int \sin x dx = -\cos x$

$\int u dv = u \cdot v - \int v du$

$$a) \int x \cos(x^2) dx$$

$$= \int \frac{1}{2} \cdot 2x \cos(x^2) dx =$$

$$du = d(x^2) = (x^2)' \cdot dx$$

$$= 2x dx$$

$$u = x^2$$

$$= \frac{1}{2} \int \cos(x^2) 2x dx = \frac{1}{2} \int \cos(x^2) dx^2 = \frac{1}{2} \int \cos u du =$$

$$= \frac{1}{2} \sin u + C$$

$$b) \int e^x \sin x dx \rightarrow \text{integration by part}$$

$$u = e^x \rightarrow du = e^x dx$$

$$dv = \sin x dx \rightarrow v = \int dv = \int \sin x dx = -\cos x$$

In general

$$\int u dv = u \cdot v - \int v du$$

$$\int e^x \sin x \, dx = e^x \cdot (-\cos x) - \int (-\cos x) \cdot e^x \, dx =$$

$$= -e^x \cos x + \int \cos x e^x \, dx$$

$$u = e^x \rightarrow du = e^x \, dx$$

$$dv = \cos x \, dx \rightarrow v = \int \cos x \, dx = \sin x$$

$$\int u \, dv = u \cdot v - \int v \, du$$

$$J = e^x \cdot \sin x - \int \sin x e^x \, dx$$

$$I = -e^x \cos x + e^x \sin x - I$$

$$\Rightarrow 2I = -e^x \cos x + e^x \sin x$$

$$I = \frac{-e^x \cos x + e^x \sin x}{2} + C$$

a) $\int x \cos(x^2) dx$

$u = x^2$

$du = 2x dx$

$\frac{du}{2} = x dx$

$\int \cos x dx = \sin x$

$\int \cos x^2 dx = \int \cos u \cdot \frac{du}{2}$

$= \frac{1}{2} \int \cos u du = \frac{1}{2} \sin u + C$

$= \frac{1}{2} \sin x^2 + C$

$$\int \underbrace{4x} \cdot \underbrace{\sin x} dx$$

$$\int \underbrace{x} \cos(\underbrace{x^2}) dx$$

$$u = 4x \rightarrow du = 4 dx$$

$$du = \sin x dx \rightarrow v = \int du = \int \sin x dx$$

Exercise 2:

a) $\int x^2 \sin x dx$

Annotations: An arrow points from the x in $\sin x$ to the x in x^2 . Another arrow points from the x^2 in x^2 to $(x^2)'$.

$$\int u dv = u \cdot v - \int v du$$

$$u = x^2 \rightarrow du = 2x dx \quad du = 2x dx$$

$$dv = \sin x dx \rightarrow v = \int dv = \int \sin x dx = -\cos x = v$$

$$\int x^2 \sin x dx = x^2 \cdot (-\cos x) - \int -\cos x \cdot 2x dx =$$

$$= -x^2 \cos x + \int 2x \cos x dx = I$$

$$I = \int 2x \cos x \, dx$$

$$\int u \, dv = u \cdot v - \int v \, du$$

$$u = 2x \rightarrow du = (2x)' \, dx = 2 \, dx = du$$

$$dv = \cos x \, dx \rightarrow v = \int dv = \int \cos x \, dx = \sin x = v$$

$$I = 2x \cdot \sin x - \int \sin x \cdot 2 \, dx = 2x \sin x - 2 \int \sin x \, dx$$

$$= 2x \sin x - 2(-\cos x) + C$$

$$\text{Answer: } \int x^2 \sin x \, dx = -x^2 \cos x + \int 2x \cos x \, dx = -x^2 \cos x + (2x \sin x + 2 \cos x + C)$$

Exercise 1:

c) $\int \frac{\ln(\arctan(x)) dx}{1+x^2}$

$= \int \frac{1}{1+x^2} dx$

$u = \arctan(x)$

$\int \ln u du$

$$I = \int \frac{\ln(\arctan(x))}{1+x^2} dx$$

$$du = \frac{1}{1+x^2} \cdot dx$$

$$u = \arctan(x)$$

$$du = d(\arctan(x)) =$$

$$(\arctan(x))' \cdot dx =$$

$$\frac{1}{1+x^2} \cdot dx$$

$$I = \int \ln u \cdot 1 \cdot du \quad \rightarrow \quad k = \ln u \rightarrow dk = (\ln u)' du = \frac{1}{u} du$$

$$dl = 1 \cdot du \rightarrow l = \int dl = \int du = u$$

$$I = \ln u \cdot u - \int u \cdot \frac{du}{u} = \ln u \cdot u - \int du = \ln u \cdot u - u + c = \ln(\arctan(x)) \cdot \arctan(x) - \arctan(x) + c$$

$$\underline{I} = \ln(u) \cdot u - u + C =$$

$$= \ln(\arctan(x)) \cdot \arctan(x) - \arctan(x) + C = \underline{I}$$

Exercise 1:

$$d) \int x e^{x^2} dx$$

$$u = x^2$$
$$\frac{du}{2} = (x^2)' dx = \frac{2x dx}{2}$$

$$\frac{du}{2} = x dx$$

$$\int x e^{x^2} dx = \int e^u \frac{du}{2} = \frac{1}{2} \int e^u du = \frac{1}{2} e^u + c$$

$$= \frac{1}{2} e^{x^2} + c$$